### RESEARCH

#### **Open Access**

# New generating functions of I-function satisfying Truesdell's $F_q$ -equation



Altaf Ahmad Bhat<sup>1</sup>, Asifa Tassaddiq<sup>2\*</sup>, D.K. Jain<sup>3</sup> and Humera Naaz<sup>2</sup>

\*Correspondence:

a.tassaddiq@mu.edu.sa

<sup>2</sup>Department of Basic Sciences and Humanities, College of Computer and Information Sciences, Majmaah University, 11952 Al-Majmaah, Saudi Arabia

Full list of author information is available at the end of the article

#### Abstract

In this paper we first obtain various new forms of the q-analogue of the l-function satisfying Truesdell's ascending and descending  $F_q$ -equation. Then we use these forms to obtain new generating functions for the q-analogue of the l-function. Some particular cases of these results in terms of the q-analogue of the l-function, H-function and G-function have also been obtained.

**Keywords:**  $F_q$ -equation; Generating function; Basic analogues of the *I*-function; *H*-function

#### 1 Introduction

Many researchers engaged their focus on a different version of calculus which is also called calculus without limits or q-calculus. This form of calculus was initiated in the 1920s of the last century. Basic elements of q-calculus can be found in Kac and Cheung's book [1] entitled "Quantum Calculus". The investigations of q-integrals and q-derivatives of arbitrary order have gained importance due to their various applications in the areas like ordinary and fractional differential equations, solutions of the q-difference (differential) and q-integral equations, and q-transform analysis.

Hypergeometric functions evolved as a natural unification of many known functions [2-5] starting from the seventeenth century to the present day. Functions of this type may also be generalized using the concept of basic number q, resulting in their basic or q-analogues. Over the last 30 years, great interest in q-functions has been witnessed in view of their applications in number theory, statistics and other areas of mathematics and physics. Recent developments in the theory of basic hypergeometric functions have introduced new generalized forms of them. These functions are Mac-Roberts's *E*-function, Meijer's *G*-function, Fox's *H*-function, Saxena's *I*-function and their q-analogues. The q-analogue of the *I*-function has been introduced by Dutta et al. [6], in view of the q-gamma function, which is a q-extension of the generalized *H*-function and *I*-function earlier defined by Saxena et al. [7] and Farooq et al. [8].

In his effort towards achieving unification of special functions, Truesdell [9] has put forward a theory which yielded a number of results for special functions satisfying the so-called Truesdell's *F*-equation. Agrawal [10], extended this theory and derived results for

© The Author(s) 2020. This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.



a descending F-equation. He obtained various properties like orthogonality, Rodrigue's and Schalafli's formulas for the F-equation. Renu Jain et al. [11] obtained various forms of the I-function which satisfy Truesdell's ascending and descending F-equation. For more of such recent studies, the interested reader is referred to [12–16] and the references therein.

In this paper, on the one hand we derive some identities for the q-analogue of gamma function and on the other we obtain new generating functions which satisfy Truesdell's ascending and descending  $F_q$ -equation. To attain the purpose, we have stretched out Fequation to its q-analogue, namely the  $F_q$ -equation. We have additionally determined different types of the I-function satisfying Truesdell's ascending and descending  $F_q$ -equation. By applying the various structures we have obtained some generating functions of the Ifunction. Some special cases of these results are also obtained, which validate the outcomes and also yield some new results. We present our main results in Sect. 3 after presenting related mathematical preliminaries in Sect. 2.

#### 2 Mathematical preliminaries

Before going further to this section, it is to be remarked that some literature can be found for a trivial generalization of the *I*-function, namely the Aleph function. Therefore, Sexena [17] has proved that the so-called "Aleph function" is nothing but another form of the Saxena *I*-function, which is the last generalization of the hypergeometric functions. Hence, all studies of the Aleph function are, in fact, studies of the earlier function (*I*-function) unless it indicates some new properties of both *I*-function and Aleph function. For further details, see [17] and the references therein. Therefore, in our present investigation we confine ourselves to different forms of the *I*-function.

#### 2.1 Basic analogue of the *I*-function

The basic analogue of the modified *I*-function was given by Dutta et al. [6] in terms of the Mellin–Barnes type basic contour integral as

$$\begin{split} I_{p_{i},q_{i},\tau_{i};r}^{m,n} \left[ \left( z; q \left| \substack{(a_{j},A_{j})_{1,n} & \dots & [\tau_{i}(a_{ji},A_{ji})]_{n+1,p_{i}} \\ (b_{j},B_{j})_{1,m} & \dots & [\tau_{i}(b_{ji},B_{ji})]_{m+1,q_{i}} \end{array} \right) \right] \\ &= \frac{1}{2\pi\omega} \\ &\times \int_{L} \frac{\prod_{j=1}^{m} G(q^{(b_{j}-B_{j}s)}) \prod_{j=1}^{n} G(q^{(1-a_{j}-A_{j}s)})}{\sum_{i=1}^{r} \tau_{i}[\prod_{j=m+1}^{q_{i}} G(q^{(1-b_{ji}+B_{ji}s)}) \prod_{j=n+1}^{p_{i}} G(q^{(a_{ji}-A_{ji}s)})G(q^{s})G(q^{1-s})\sin\pi s]} \pi z^{s} ds, \end{split}$$
(1)

where  $z \neq 0, 0 < q < 1$  and  $\omega = \sqrt{-1}$ . The parameters  $p_i, q_i$  are non-negative whole numbers fulfilling the disparity  $0 \le n \le p_i, 0 \le m \le q_i$  and  $\tau_i > 0$ ; i = 1, 2, 3, ..., r is finite and  $A_j, B_j$ ,  $A_{ji}, B_{ji}$  are +ve real numbers and  $a_j, b_j, a_{ji}, b_{ji} \in C$ . The  $C = C_{\omega\gamma\infty}$  is an appropriate shape of the Mellin–Barnes type in the complex s-plane, which keeps running from  $\gamma - \omega\infty$  to  $\gamma + \omega\infty$  with  $\gamma \in C$ , in such a way, that all poles of  $G(q^{(b_j - B_j s)}); 1 \le j \le m$ , isolating from those of  $G(q^{(1-a_j+A_j s)}); 1 \le j \le n$ . Every pole of the integrand (1) is simple and void products are translated as unity. The integral converges if  $\operatorname{Re}[s \log(z) - \log \sin \pi s] < 0$ , for substantial estimations of |s| on the contour *L*, that is, if  $|(\operatorname{arg}(z) - w_2 w_1^{-1} \log |z|)| < \pi$ , where 0 < |q| < 1,  $\log q = -w = -(w_1 + iw_2), w, w_1, w_2$  are definite quantities,  $w_1, w_2$  are real. If we take r = 1;  $\tau_i = 1$  in (1), then it reduces to the *q*-analogue of *H*-function defined by Saxena et al. [18]. If we set  $A_i = B_j = 1$  for all *i* and *j*, then it reduces to the *q*-analogue of the *G*-function defined by Saxena et al. [18].

Ahmad et al. [19] defined the basic analogue of the modified *I*-function in terms of the *q*-gamma function as follows:

$$\begin{split} I_{p_{i},q_{i},\tau_{i};r}^{m,n} \left[ \left( z; q \left| \substack{(a_{j},A_{j})_{1,n} & \dots & [\tau_{i}(a_{ji},A_{ji})]_{n+1,p_{i}} \\ (b_{j},B_{j})_{1,m} & \dots & [\tau_{i}(b_{ji},B_{ji})]_{m+1,q_{i}} \end{array} \right) \right] \\ &= \frac{1}{2\pi\omega} \\ &\times \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{q}(b_{j}-B_{j}s) \prod_{j=1}^{n} \Gamma_{q}(1-a_{j}-A_{j}s)\pi z^{s}}{\sum_{i=1}^{r} \tau_{i}[\prod_{j=m+1}^{q_{i}} \Gamma_{q}(1-b_{ji}+B_{ji}s) \prod_{j=n+1}^{p_{i}} \Gamma_{q}(a_{ji}-A_{ji}s)\Gamma_{q}(s)\Gamma_{q}(1-s)\sin\pi s]} \, ds. \end{split}$$

$$(2)$$

By setting  $\tau_i = 1$  in (2), we get the results defined in [7, 8].

#### 2.2 Truesdell F-equation

If for the function  $F(z, \alpha)$ ,

$$D_z^r F(z,\alpha) = F(z,\alpha+r),\tag{3}$$

then it is said to be satisfying the ascending  $F_q$ -condition. However, for  $F(z, \alpha)$  satisfying the ascending F-equation, Truesdell [9] has obtained the following generating functions using Taylor's series:

$$F(z+y,\alpha) = \sum_{n=0}^{\infty} y^n \frac{F(z,\alpha+n)}{n!}.$$
(4)

The function  $G(z, \alpha)$  is said to satisfy the descending  $F_q$ -equation if

$$D_z^r G(z,\alpha) = G(z,\alpha-r).$$
(5)

For  $G(z, \alpha)$  satisfying the descending *F*-condition, Agrawal [20] has obtained the following generating functions:

$$G(z+y,\alpha) = \sum_{n=0}^{\infty} y^n \frac{G(z,\alpha-n)}{n!}.$$
(6)

The q-derivative of Eqs. (3) and (5) can be written, respectively, in the following manner:

$$D_{q,z}^{r}F(z,\alpha) = F(z,\alpha+r),$$
(7)

$$D_{q,z}^{r}G(z,\alpha) = G(z,\alpha-r).$$
(8)

#### 3 Main results

In this section we derive our main results by dividing them into three subsections (Sects. 3.1–3.3). We first obtain the identities involving the gamma function and then we will obtain generating functions satisfying Truesdell's ascending and descending  $F_{q}$ -equations.

#### 3.1 Identities involving gamma function

In this section, we first derive some identities for the q-analogue of the gamma function in order to obtain further results of this paper.

Lemma 3.1 The following identity for the q-analogue of gamma function holds true:

$$\prod_{k=0}^{m-1} \Gamma_q\left(\frac{\alpha+r+k}{m}\right) = \frac{(q^{\alpha};q)_r}{(1-q)^r} \prod_{k=0}^{m-1} \Gamma_q\left(\frac{\alpha+k}{m}\right).$$
(9)

*Proof* Considering the involved ratio and simplifying in the following manner, we get the required result:

$$\frac{\prod_{k=0}^{m-1} \Gamma_q(\frac{\alpha+r+k}{m})}{\prod_{k=0}^{m-1} \Gamma_q(\frac{\alpha+k}{m})} = \frac{\Gamma_q(\frac{\alpha+r}{m})}{\Gamma_q(\frac{\alpha+r}{m})} \frac{\Gamma_q(\frac{\alpha+r+1}{m})}{\Gamma_q(\frac{\alpha+1}{m})} \frac{\Gamma_q(\frac{\alpha+r+2}{m})}{\Gamma_q(\frac{\alpha+2}{m})} \cdots \frac{\Gamma_q(\frac{\alpha+r+m-1}{m})}{\Gamma_q(\frac{\alpha+m-1}{m})}$$

$$= \left[\frac{\alpha}{m}\right]_{q,r/m} \left[\frac{\alpha+1}{m}\right]_{q,r/m} \cdots \left[\frac{\alpha+m-1}{m}\right]_{q,r/m}$$

$$= \frac{\left[(q^{\alpha};q^m)\frac{r}{m}(q^{\alpha+1};q^m)\frac{r}{m}(q^{\alpha+2};q^m)\frac{r}{m}\cdots(q^{\alpha+m-1};q^m)\frac{r}{m}\right]}{(1-q)^r}$$

$$= \frac{(q^{\alpha};q)_r}{(1-q)^r}.$$
(10)

*Remark* 1 Similarly, by following the same type of calculations, we can also derive the following identities:

$$\prod_{k=0}^{m-1} \Gamma_q \left( 1 - \frac{\alpha + r + k}{m} \right) = \frac{q^{\frac{2r\alpha + r^2 - r}{2m}} (1 - q)^r}{(-1)^r (q^\alpha; q)_r} \prod_{k=0}^{m-1} \Gamma_q \left( 1 - \frac{\alpha + k}{m} \right); \tag{11}$$

$$\prod_{k=0}^{m-1} \Gamma_q\left(\frac{\alpha - r + k}{m}\right) = \frac{q^{\frac{r}{m}(r-2\alpha+1)}(1-q)^r}{(-1)^r (q^{1-\alpha};q)_r} \prod_{k=0}^{m-1} \Gamma_q\left(\frac{\alpha + k}{m}\right);$$
(12)

$$\prod_{k=0}^{m-1} \Gamma_q \left( 1 - \frac{\alpha - r + k}{m} \right) = \frac{(q^{1-\alpha}; q)_r}{(1-q)^r} \prod_{k=0}^{m-1} \Gamma_q \left( 1 - \frac{\alpha + k}{m} \right).$$
(13)

Here and in the following,  $\triangle(\mu, \alpha)$ , denotes the array of  $\mu$  parameters:

$$\frac{\alpha}{\mu}, \frac{\alpha+1}{\mu}, \dots, \frac{\alpha+\mu-1}{\mu} \quad (\mu = 1, 2, 3, \dots)$$

and

$$(\triangle(\mu,\alpha),\beta)$$
 stands for  $\left(\frac{\alpha}{\mu},\beta\right), \left(\frac{\alpha+1}{\mu},\beta\right), \dots, \left(\frac{\alpha+\mu-1}{\mu},\beta\right).$  (14)

#### 3.2 Generating functions satisfying Truesdell's ascending $F_q$ -equation

In this section we will derive various forms of the q-analogue of the modified I-function, which satisfy Truesdell's ascending  $F_q$ -equation.

**Theorem 3.2** The following form of the I-function satisfies Truesdell's ascending  $F_q$ -equation:

$$\left(q^{\frac{\alpha-1}{2}\left[\frac{\rho-1}{\rho}\right]}z\right)^{-\alpha} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n}\left[\left(q^{\alpha h(\lambda-1)}z^{h\lambda};q\left|\begin{array}{c}(a_{j},\alpha_{j})_{1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\rho},(\Delta(\rho,\alpha),h)\\(\Delta(\lambda,\alpha),h),(b_{j},\beta_{j})_{\lambda+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\rho},(\Delta(\rho,\alpha),h)\end{array}\right)\right].$$

$$(15)$$

*Proof* Expecting that the structure (15) is  $F(z, \alpha)$ , supplanting the basic analogue of the *I*-function according to its definition (2) and then interchanging the order of integration and differentiation, which is legitimized under the conditions of convergence [19], we see that

$$\begin{split} D_{q,z}^{r}F(z,\alpha) \\ &= \frac{1}{2\pi\omega} \int_{L} \frac{\prod_{k=0}^{\lambda-1} \Gamma_{q}(\frac{\alpha+k}{\lambda} - hs)}{\sum_{i=1}^{l} \tau_{i}[\prod_{j=m+1}^{qi-\rho} \Gamma_{q}(1 - b_{ji} + B_{ji}s)]} \\ &\times \left(\prod_{j=\lambda+1}^{m} \Gamma_{q}(b_{j} - \beta_{j}s) \prod_{j=1}^{n} \Gamma_{q}(1 - a_{j} - \alpha_{j}s)q^{\frac{\alpha(\alpha-1)}{2\rho} - \frac{\alpha(\alpha-1)}{2}} q^{\alpha h(\lambda-1)s} D_{q,z}^{r} z^{h\lambda s - \alpha} \pi\right) \\ &/ \left(\prod_{k=0}^{\rho-1} \Gamma_{q}\left(1 - \frac{\alpha+k}{\rho} + hs\right) \prod_{j=n+1}^{p_{i}-\rho} \Gamma_{q}(a_{ji} - \alpha_{ji}s) \right) \\ &\times \prod_{k=0}^{\rho-1} \Gamma_{q}\left(\frac{\alpha+k}{\rho} - hs\right) \Gamma_{q}(s) \Gamma_{q}(1 - s) \sin \pi s ds. \end{split}$$
(16)

Using the results (9) and (11), we have

$$\prod_{k=0}^{\lambda-1} \Gamma_q \left( \frac{\alpha+k}{\lambda} - hs \right) = \frac{(1-q)^r}{(q^{\alpha-h\lambda s};q)_r} \prod_{k=0}^{\lambda-1} \Gamma_q \left( \frac{\alpha+r+k}{\lambda} - hs \right), \tag{17}$$

$$\prod_{k=0}^{\lambda-1} \Gamma_q \left( 1 - \frac{\alpha+k}{\lambda} + hs \right) = \frac{(-1)^r (q^{\alpha-h\lambda s};q)_r}{(1-q)^r q^{\frac{2r(\alpha-h\lambda s)+r^2-r}{2\lambda}}} \prod_{k=0}^{\lambda-1} \Gamma_q \left( 1 - \frac{\alpha+r+k}{\lambda} + hs \right).$$
(18)

Using the identities (17)–(18) in (16) we get the required Truesdell's ascending  $F_{q}$ -Eq. (7).

*Remark* 2 Similarly the following structures (19) to (23) can be shown to fulfill Truesdell's ascending  $F_q$ -condition:

$$\left(\frac{q^{\frac{1}{2}[\frac{\alpha}{\lambda}+\alpha-1]}z}{(1-q)}h\right)^{-\alpha} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n}\left[\left(q^{\alpha h(\lambda+1)}z^{h\lambda};q\left|\begin{array}{l} (\triangle(\lambda,\alpha+1/2),h),(a_{j},\alpha_{j})_{\lambda+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}}\\ (\triangle(2\lambda,2\alpha),h),(b_{j},\beta_{j})_{2\lambda+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}}\end{array}\right)\right], \quad (19)$$

$$\left(\frac{q^{\frac{1}{2}\left[\frac{3\alpha+1}{3\lambda}+\alpha-1\right]}z}{(1-q)}\right)^{-\alpha} \times I_{p_{i},q_{i};\tau_{i},l}^{m,n} \left[ \left(q^{\alpha h(\lambda+1)}z^{h\lambda};q \left| \stackrel{(\Delta(\lambda,\alpha+\frac{2}{3}),h),(a_{j},\alpha_{j})_{\lambda+1,n},\left[\tau_{i}(a_{ji},\alpha_{ji})\right]_{n+1,p_{i}-\lambda},(\Delta(\lambda,\alpha+1/3),h)}{(\Delta(3\lambda,3\alpha),h),(b_{j},\beta_{j})_{3\lambda+1,m},\left[\tau_{i}(b_{ji},\beta_{ji})\right]_{m+1,q_{i}}}\right) \right], (20)$$

$$\left(q^{\frac{\alpha-1}{2}}z\right)^{-\alpha}e^{\pi i\alpha}I_{p_{i},q_{i};\tau_{i},l}^{m,n} \left[ \left( \left(q^{\alpha}z\right)^{h\lambda};q \left| \stackrel{(a_{j},\alpha_{j})_{1,n},\left[\tau_{i}(a_{ji},\alpha_{ji})\right]_{n+1,p_{i}}}{(\Delta(\lambda,\alpha),h),(b_{j},\beta_{j})_{\lambda+1,m},\left[\tau_{i}(b_{ji},\beta_{ji})\right]_{m+1,q_{i}}}\right) \right], (21)$$

$$\left(q^{\frac{\alpha-1}{2}\frac{\lambda-1}{\lambda}}z\right)^{-\alpha}I_{p_{i},q_{i};\tau_{i},l}^{m,n} \left[ \left(q^{h\alpha(\lambda-1)}z^{h\lambda};q \left| \stackrel{(a_{j},\alpha_{j})_{1,n},\left[\tau_{i}(a_{ji},\alpha_{ji})\right]_{n+1,p_{i}}}{(\Delta(\lambda,\alpha),h),(b_{j},\beta_{j})_{\lambda+1,m},\left[\tau_{i}(b_{ji},\beta_{ji})\right]_{m+1,q_{i}}}\right) \right], (22)$$

$$\left(q^{\frac{\alpha-1}{2}\frac{\lambda-1}{\lambda}}+\frac{1}{p}z\right)^{-\alpha}e^{\pi i\alpha} \times I_{p_{i},q_{i};\tau_{i},l}^{m,n} \left[ \left(q^{\alpha}z\right)^{h\lambda};q \left| \stackrel{(\Delta(\rho,\alpha),h),(a_{j},\alpha_{j})_{\rho+1,n},\left[\tau_{i}(a_{ji},\alpha_{ji})\right]_{n+1,p_{i}}}{(\Delta(\rho,\alpha),h),(a_{j},\alpha_{j})_{\rho+1,n},\left[\tau_{i}(a_{ji},\alpha_{ji})\right]_{n+1,p_{i}}}\right) \right]$$

$$\times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( \left( q^{\alpha} z \right)^{n\kappa}; q \left| (\Delta(\rho,\alpha),h), (b_{j},\beta_{j})_{\rho+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\lambda}(\Delta(\lambda,\alpha),h) \right) \right] \right].$$

$$(23)$$

Next we use the above forms (15) and (19)–(23) to establish the following new generating functions for the *q*-analogue of the modified *I*-functions using Truesdell's ascending  $F_{q}$ -equation technique.

For example, we establish the following generating function (24) by substituting the structures (15) in Truesdell's ascending  $F_q$ -condition (7) and supplant z by  $\frac{y}{q^{\alpha}}$  and  $q^{-\alpha h}y^{h\lambda}$  by x, respectively:

$$\left(1+q^{\alpha}\right)^{-\alpha} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( \left(1+q^{\alpha}\right)^{h\lambda}x;q \left| \substack{(a_{j},\alpha_{j})_{1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\rho}, (\Delta(\rho,\alpha),h)}{(\Delta(\lambda,\alpha),h), (b_{j},\beta_{j})_{\lambda+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\rho}, (\Delta(\rho,\alpha),h)} \right) \right]$$

$$= \sum_{r=0}^{\infty} \frac{(q^{\frac{(-2\alpha-r+1)((\rho-1)/\rho)}{2}+2\alpha})^{r}}{r!} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( (q^{rh(\lambda-1)}x;q \left| \substack{(a_{j},\alpha_{j})_{1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\rho}, (\Delta(\rho,\alpha+r),h)}{(\Delta(\lambda,\alpha+r),h), (b_{j},\beta_{j})_{\lambda+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\rho}, (\Delta(\rho,\alpha+r),h)} \right) \right].$$

$$(24)$$

Similarly, we establish the following generating function (25) by putting the structures (19) in Truesdell's ascending  $F_q$ -condition (7) and supplant z by  $\frac{y}{q^{\alpha}}$  and  $q^{\alpha h}y^{h\lambda}$  by x, respectively:

$$\left(1+q^{\alpha}\right)^{-\alpha}I_{p_{i},q_{i};\tau_{i};l}^{m,n}\left[\left(\left(1+q^{\alpha}\right)^{h\lambda}x;q\left|\begin{array}{l} (\Delta(\lambda,\alpha+1/2),h)(a_{j},\alpha_{j})_{\lambda+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}}\\ (\Delta(2\lambda,2\alpha),h),(b_{j},\beta_{j})_{2\lambda+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}}\end{array}\right)\right]$$

$$=\sum_{r=0}^{\infty}\frac{(q^{\frac{-1}{2}(\frac{2\alpha}{\lambda}+\frac{r}{\lambda}-1)(1-q)})^{r}}{r!}$$

$$\times I_{p_{i},q_{i};\tau_{i};l}^{m,n}\left[\left((q^{rh(\lambda+1)}x;q\left|\begin{array}{l} (\Delta(\lambda,\alpha+r+1/2),h)(a_{j},\alpha_{j})_{\lambda+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}}\\ (\Delta(2\lambda,2(\alpha+r)),h),(b_{j},\beta_{j})_{2\lambda+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}}\end{array}\right)\right].$$

$$(25)$$

Following the generating function (26) can be established by substituting the structures (20) in Truesdell's ascending  $F_q$ -condition (7) and replacing z by  $\frac{y}{q^{\alpha}}$  and  $q^{\alpha h}y^{h\lambda}$  by x, respectively:

$$\left(1+q^{\alpha}\right)^{-\alpha} \times I_{p_{i}q_{i};\tau_{i};l}^{m,n} \left[ \left( \left(1+q^{\alpha}\right)^{h\lambda}x;q \left| \begin{array}{c} (\Delta(\lambda,\alpha+2/3),h)(a_{j},\alpha_{j})_{\lambda+1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\lambda}(\Delta(\lambda,\alpha+1/3),h) \\ (\Delta(3\lambda,3\alpha),h), (b_{j},\beta_{j})_{2\lambda+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}} \end{array} \right) \right]$$

$$= \sum_{r=0}^{\infty} \frac{(q^{\frac{-1}{2}(\frac{\alpha}{\lambda}+\frac{r}{2\lambda}+\frac{r}{2}+\frac{1}{6\lambda}-\frac{1}{2})(1-q))^{r}}{r!}}{r!} \times I_{p_{i}q_{i};\tau_{i};l}^{m,n} \left[ \left( (q^{rh(\lambda+1)}x;q \left| \begin{array}{c} (\Delta(\lambda,\alpha+r+2/3),h)(a_{j},\alpha_{j})_{\lambda+1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\lambda}(\Delta(\lambda,\alpha+r+1/3),h) \\ (\Delta(3\lambda,3(\alpha+r)),h), (b_{j},\beta_{j})_{2\lambda+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}} \end{array} \right) \right].$$

$$(26)$$

Similarly, we establish the following generating function (27) by substituting the structures (21) in Truesdell's ascending  $F_q$ -condition (7) and supplant z by  $\frac{y}{q^{\alpha}}$  and  $y^{h\lambda}$  by x, respectively:

$$\left(1+q^{\alpha}\right)^{-\alpha} I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( \left(1+q^{\alpha}\right)^{h\lambda} x;q \left| \begin{array}{c} (a_{j},\alpha_{j})_{1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (\Delta(\lambda,\alpha),h), (b_{j},\beta_{j})_{\lambda+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}} \end{array} \right) \right]$$

$$= \sum_{r=0}^{\infty} \frac{(-1)^{r} (q^{\frac{1-r}{2}})^{r}}{r!} \\ \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( (q^{rh\lambda}x;q \left| \begin{array}{c} (a_{j},\alpha_{j})_{1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (\Delta(\lambda,\alpha+r),h), (b_{j},\beta_{j})_{\lambda+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}} \end{array} \right) \right].$$
(27)

To establish (28) we substitute the structures (22) in Truesdell's ascending  $F_q$ -condition (7) and supplant z by  $\frac{y}{q^{\alpha}}$  and  $q^{-\alpha h} y^{h\lambda}$  by x, respectively.

$$\left(1+q^{\alpha}\right)^{-\alpha} I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( \left(1+q^{\alpha}\right)^{h\lambda} x; q \left| \begin{array}{c} (a_{j},\alpha_{j})_{1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (b_{j},\beta_{j})_{1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\lambda}(\Delta(\lambda,\alpha),h) \end{array} \right) \right]$$

$$= \sum_{r=0}^{\infty} \frac{(q^{\frac{(\lambda-1)}{\lambda}(-\alpha-\frac{r}{2}+\frac{1}{2})+\alpha})^{r}}{r!} \\ \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( (q^{rh(\lambda-1)}x; q \left| \begin{array}{c} (a_{j},\alpha_{j})_{1,m}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (b_{j},\beta_{j})_{1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\lambda}(\Delta(\lambda,\alpha+r),h) \end{array} \right) \right].$$
(28)

Similarly we obtain (29) by putting the structures (23) in Truesdell's ascending  $F_{q^-}$  condition (7) and supplant z by  $\frac{y}{q^{\alpha}}$  and  $y^{h\lambda}$  by x, respectively:

$$\begin{array}{l} \left(1+q^{\alpha}\right)^{-\alpha} \\ \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left(\left(1+q^{\alpha}\right)^{h\lambda}x;q \left| \begin{array}{c} (\triangle(\rho,\alpha),h),(a_{j},\alpha_{j})_{\rho+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (\triangle(\rho,\alpha),h),(b_{j},\beta_{j})_{\rho+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\lambda}(\triangle(\lambda,\alpha),h) \end{array} \right) \right] \end{array}$$

$$=\sum_{r=0}^{\infty} \frac{(-1)^{r} (q^{\frac{1}{1}\lambda - \frac{1}{\rho} - 1)(\alpha + \frac{r}{2} - \frac{1}{2}) + \alpha})^{r}}{r!} \times I_{p_{i}q_{i};\tau_{i};l}^{m,n} \left[ \left( (q^{rh\lambda}x; q \left| (\Delta(\rho, \alpha + r), h), (a_{j}, \alpha_{j})_{\rho+1,n}, [\tau_{i}(a_{ji}, \alpha_{ji})]_{n+1,p_{i}} \right. \right)_{(\Delta(\rho, \alpha + r), h), (b_{j}, \beta_{j})_{\rho+1,m}, [\tau_{i}(b_{ji}, \beta_{ji})]_{m+1,q_{i}-\lambda}(\Delta(\lambda, \alpha + r), h)} \right) \right].$$
(29)

*Remark* 3 The above results yield certain special cases of the generating function for the *q*-analogue of the *I*-function, *H*-function and *G*-function [7, 8, 18, 21].

#### 3.3 Generating functions satisfying Truesdell's descending $F_q$ -equation

In this section we will derive the different forms of the q-analogue of the modified I-function, which satisfy Truesdell's descending  $F_q$ -equation.

**Theorem 3.3** The following form of the q-analogue of the modified I-function satisfies Truesdell's descending  $F_q$ -equation:

$$\left(q^{\frac{\alpha}{2}\left[\frac{1-\rho}{\rho}\right]}z\right)^{\alpha-1} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n}\left[\left(\frac{q^{\alpha h(\lambda+1)}}{z^{h\lambda}};q\left|\begin{array}{c}(\Delta(\lambda,\alpha),h),(a_{j},\alpha_{j})_{\lambda+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\rho},(\Delta(\rho,\alpha),h)\\(b_{j},\beta_{j})_{1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\rho},(\Delta(\rho,\alpha),h)\end{array}\right)\right].$$

$$(30)$$

*Proof* Assuming that the form (30) is  $G(z, \alpha)$ , replacing a basic analogue of the modified *I*-function by its statement (2), then exchanging order of differentiation and integration, which is legitimized under the states of combination [19], we observe that

$$D_{q,z}^{r}G(z,\alpha)$$

$$= \frac{1}{2\pi\omega} \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{q}(b_{j} - \beta_{j}s)}{\sum_{i=1}^{l} \tau_{i}[\prod_{j=m+1}^{q_{i}-\rho} \Gamma_{q}(1 - b_{ji} + B_{ji}s)]}$$

$$\times \left(\prod_{k=0}^{\lambda-1} \Gamma_{q}(1 - \frac{\alpha+k}{\lambda} - hs) \prod_{j=\lambda+1}^{n} \Gamma_{q}(1 - a_{j} + \alpha_{j}s)q^{\frac{\alpha(\alpha-1)(1-\rho)}{2\rho}}q^{\alpha h(\lambda+1)s}D_{q,z}^{r}z^{\alpha-1-h\lambda s}\pi\right)$$

$$/\left(\prod_{k=0}^{\rho-1} \Gamma_{q}\left(1 - \frac{\alpha+k}{\rho} + hs\right) \prod_{j=n+1}^{p_{i}-\rho} \Gamma_{q}(a_{ji} - \alpha_{ji}s)\right)$$

$$\times \prod_{k=0}^{\rho-1} \Gamma_{q}\left(\frac{\alpha+k}{\rho} - hs\right)\Gamma_{q}(s)\Gamma_{q}(1 - s)\sin\pi s] ds.$$
(31)

Using results (12) and (13), we have

$$\prod_{k=0}^{\lambda-1} \Gamma_q\left(\frac{\alpha+k}{\lambda}-hs\right) = \frac{(-1)^r (q^{1-(\alpha-h\lambda s)};q)_r}{(1-q)^r q^{\frac{r}{2m}(r-2(\alpha-h\lambda s)+1)}} \prod_{k=0}^{\lambda-1} \Gamma_q\left(\frac{\alpha-r+k}{\lambda}-hs\right),\tag{32}$$

$$\prod_{k=0}^{\lambda-1} \Gamma_q \left( 1 - \frac{\alpha+k}{\lambda} + hs \right) = \frac{(1-q)^r}{(q^{1-(\alpha-h\lambda s)};q)_r} \prod_{k=0}^{\lambda-1} \Gamma_q \left( 1 - \frac{\alpha-r+k}{\lambda} + hs \right).$$
(33)

Using the identities (32) and (33) in (31), we obtain the required Truesdell form of the descending  $F_q$ -Eq. (8).

*Remark* 4 Similarly, in the same manner, the following forms (34) to (38) can be shown to satisfy the descending  $F_q$ -condition:

$$\left(\frac{q^{\frac{-\alpha}{2}\left[\frac{1+\lambda}{\lambda}\right]}z}{(1-q)^{\alpha}}\right)^{\alpha-1} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left(\frac{q^{\alpha h(\lambda-1)}}{z^{h\lambda}};q \middle| (\Delta(2\lambda,2\alpha),h),(a_{j},\alpha_{j})_{2\lambda+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}}}{(\Delta(\lambda,\alpha+1/2),h),(b_{j},\beta_{j})_{2\lambda+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}}}\right) \right], \quad (34)$$

$$\frac{(q^{\frac{-\alpha}{2(\alpha-1)}\left[\frac{3\alpha+1}{3\lambda}+\alpha-1\right]}z)^{\alpha-1}}{(1-q)^{\alpha}} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left(\frac{q^{\alpha h(\lambda+1)}}{z^{h\lambda}};q \middle| (\Delta(\lambda,\alpha+2/3),h),(b_{j},\beta_{j})_{\lambda+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}-\lambda},(\Delta(\lambda,\alpha+1/3),h)}\right) \right], \quad (35)$$

$$(q^{\frac{-\alpha}{2}}z)^{\alpha-1}e^{\pi i\alpha}I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left(\frac{(q^{\alpha h\lambda})}{z^{h\lambda}};q \middle| (\Delta(\lambda,\alpha),h),(a_{j},\alpha_{j})_{\lambda+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}}}{(b_{j},\beta_{j})_{1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}}} \right) \right], \quad (36)$$

$$\left(q^{\frac{\alpha}{2}\left[\frac{1-\lambda}{\lambda}\right]}z\right)^{\alpha-1}I_{p_{i},q_{i};\tau_{i};l}^{m,n}\left[\left(\frac{q^{h\alpha(\lambda-1)}}{z^{h\lambda}};q\left|\begin{pmatrix}(a_{j},\alpha_{j})_{1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\lambda},(\Delta(\lambda,\alpha),h)\\(b_{j},\beta_{j})_{1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}}\end{pmatrix}\right],\quad(37)$$

$$\left(q^{\frac{\alpha}{2}\left[\frac{1-\lambda}{\lambda}-\frac{1}{\rho}\right]}z\right)^{\alpha-1}e^{\pi i\alpha} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n}\left[\left(\frac{q^{\alpha h\lambda}}{z^{h\lambda}};q\left|\substack{(\triangle(\rho,\alpha),h),(a_{j},\alpha_{j})_{\rho+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\lambda},(\triangle(\lambda,\alpha),h),(\lambda_{j},\alpha_{j})_{\rho+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}}}\right)\right].$$
(38)

Next we use the above forms (30) and (34)–(38) and establish the following generating functions for basic analogue of the *I*-functions by applying the descending  $F_q$ -equation technique.

To establish (39) we substitute the structure (30) in Truesdell's descending  $F_q$ -Eq. (8) and replace z by  $\frac{y}{q^{\alpha}}$  and  $\frac{q^{\alpha h+2\alpha h\lambda}}{y^{h\lambda}}$  by x in progression to get the required outcomes:

$$\begin{pmatrix} (1+q^{\alpha})^{\alpha-1} \\ \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( \left( (1+q^{\alpha})^{-h\lambda}x;q \middle| {(\Delta(\lambda,\alpha),h),(a_{j},\alpha_{j})_{\lambda+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\rho},(\Delta(\rho,\alpha),h)} \right) \right] \\ = \sum_{r=0}^{\infty} \frac{(q^{(-\alpha+r/2+1/2)((1-\rho)/\rho)}+\alpha)^{r}}{r!} \\ \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( (q^{-rh(\lambda+1)}x;q \middle| {(\Delta(\lambda,\alpha-r),h),(a_{j},\alpha_{j})_{\lambda+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\rho},(\Delta(\rho,\alpha-r),h)} \right) \right].$$
(39)

To establish (40), we substitute the structures (34) in Truesdell's descending  $F_q$ -Eq. (8) and replace z by  $\frac{y}{q^{\alpha}}$  and  $\frac{2\alpha h\lambda - \alpha h}{y^{h\lambda}}$  by x, respectively:

$$(1+q^{\alpha})^{\alpha-1} \times I_{p_i,q_i;\tau_i;l}^{m,n} \left[ \left( (1+q^{\alpha})^{-h\lambda}x;q \left| \begin{array}{c} (\triangle(2\lambda,2\alpha),h)(a_j,\alpha_j)_{2\lambda+1,n}, [\tau_i(a_{ji},\alpha_{ji})]_{n+1,p_i} \\ (\triangle(\lambda,\alpha+1/2),h), (b_j,\beta_j)_{2\lambda+1,m}, [\tau_i(b_{ji},\beta_{ji})]_{m+1,q_i} \end{array} \right) \right]$$

$$= \sum_{r=0}^{\infty} \frac{(q^{(\alpha - \frac{1}{2} - \frac{r}{2})(\frac{1+\lambda}{\lambda}) + \alpha(1-q)})^{r}}{r!} \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( (q^{rh(1-\lambda)}x; q \left| (\Delta(2\lambda, 2\alpha - 2r), h)(a_{j}, \alpha_{j})_{2\lambda+1,n}, [\tau_{i}(a_{ji}, \alpha_{ji})]_{n+1,p_{i}} \right) \right] (\Delta(\lambda, \alpha - r + 1/2), h), (b_{j}, \beta_{j})_{2\lambda+1,m}, [\tau_{i}(b_{ji}, \beta_{ji})]_{m+1,q_{i}} \right) \right].$$
(40)

To establish (41), we substitute the structures (35) in Truesdell's descending  $F_q$ -Eq. (8) and replace z by  $\frac{y}{q^{\alpha}}$  and  $\frac{q^{\alpha h+2\alpha h\lambda}}{y^{h\lambda}}$  by x, respectively:

$$\begin{split} \left(1+q^{\alpha}\right)^{\alpha} & \times I_{p_{i},q_{j};\tau_{i};l}^{m,n} \left[ \left( \left(1+q^{\alpha}\right)^{-h\lambda} x; q \left| \begin{array}{c} (\Delta(3\lambda,3\alpha),h)(a_{j},\alpha_{j})_{3\lambda+1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (\Delta(\lambda,\alpha+2/3),h), (b_{j},\beta_{j})_{\lambda+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{l}-\lambda}, (\Delta(\lambda,\alpha+1/3),h) \end{array} \right) \right] \\ &= \sum_{r=0}^{\infty} \frac{(q^{2\alpha+\frac{\alpha}{\lambda}-\frac{r}{2\lambda}-\frac{r}{2}+\frac{1}{6\lambda}+\frac{1}{2}(1-q))^{r}}{r!} \\ &\times I_{p_{i},q_{j};\tau_{i};l}^{m,n} \left[ \left( (q^{-rh(\lambda+1)}x; q \left| \begin{array}{c} (\Delta(3\lambda,3\alpha-3r),h)(a_{j},\alpha_{j})_{3\lambda+1,m}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (\Delta(\lambda,\alpha-r+2/3),h), (b_{j},\beta_{j})_{\lambda+1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{l}-\lambda}, (\Delta(\lambda,\alpha-r+1/3),h) \end{array} \right) \right]. \end{split}$$

$$(41)$$

To establish (42) we substitute the structures (36) in Truesdell's descending  $F_q$ -Eq. (8) and replace z by  $\frac{y}{q^{\alpha}}$  and  $\frac{q^{2\alpha h\lambda}}{y^{h\lambda}}$  by x, respectively:

$$\left(1+q^{\alpha}\right)^{\alpha-1} I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( \left(1+q^{\alpha}\right)^{-h\lambda}x;q \left| \begin{array}{c} (\Delta(\lambda,\alpha),h), (a_{j},\alpha_{j})_{\lambda+1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (b_{j},\beta_{j})_{1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}} \end{array} \right) \right]$$

$$= \sum_{r=0}^{\infty} \frac{(-1)^{r} (q^{2\alpha+\frac{r}{2}-1/2})^{r}}{r!} \\ \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( \left(q^{-rh\lambda}x;q \left| \begin{array}{c} (\Delta(\lambda,\alpha-r),h), (a_{j},\alpha_{j})_{\lambda+1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}} \\ (b_{j},\beta_{j})_{1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}} \end{array} \right) \right].$$
(42)

To establish (43) we substitute the structures (37) in Truesdell's descending  $F_q$ -Eq. (8) and replace z by  $\frac{y}{q^{\alpha}}$  and  $\frac{q^{2\alpha h\lambda - \alpha h}}{y^{h\lambda}}$  by x, respectively:

$$\left(1+q^{\alpha}\right)^{\alpha-1} I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( \left(1+q^{\alpha}\right)^{-h\lambda} x;q \left| \begin{array}{c} (a_{j},\alpha_{j})_{1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\lambda}, (\Delta(\lambda,\alpha),h) \\ (b_{j},\beta_{j})_{1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}} \end{array} \right) \right]$$

$$= \sum_{r=0}^{\infty} \frac{(q^{\frac{(1-\lambda)}{\lambda}(-\alpha+\frac{r}{2}+\frac{1}{2})+\alpha})^{r}}{r!} \\ \times I_{p_{i},q_{i};\tau_{i};l}^{m,n} \left[ \left( (q^{rh(1-\lambda)}x;q \left| \begin{array}{c} (a_{j},\alpha_{j})_{1,n}, [\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\lambda}, (\Delta(\lambda,\alpha-r),h) \\ (b_{j},\beta_{j})_{1,m}, [\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}} \end{array} \right) \right].$$
(43)

To establish (44) we substitute the structures (38) in Truesdell's descending  $F_q$ -Eq. (8) and replace z by  $\frac{y}{q^{\alpha}}$  and  $\frac{2\alpha h\lambda}{y^{h\lambda}}$  by x, respectively:

$$\begin{pmatrix} 1+q^{\alpha} \end{pmatrix}^{\alpha-1} \\ \times I_{p_i,q_i;\tau_i;l}^{m,n} \left[ \left( \left(1+q^{\alpha}\right)^{-h\lambda}x;q \middle| \stackrel{(\triangle(\rho,\alpha),h),(a_j,\alpha_j)_{\rho+1,n},[\tau_i(a_{ji},\alpha_{ji})]_{n+1,p_i-\lambda},(\triangle(\lambda,\alpha),h)}{(\triangle(\rho,\alpha),h),(b_j,\beta_j)_{\rho+1,m},[\tau_i(b_{ji},\beta_{ji})]_{m+1,q_i}} \right) \right]$$

$$=\sum_{r=0}^{\infty} \frac{(-1)^{r} (q^{(\frac{1}{\lambda}-\frac{1}{\rho}-1)(-\alpha+\frac{r}{2}+\frac{1}{2})})^{r}}{r!} \times I_{p_{i},q_{i};\tau_{i};i}^{m,n} \bigg[ \bigg( (q^{-rh\lambda}x;q \left| \frac{(\triangle(\rho,\alpha-r),h),(a_{j},\alpha_{j})_{\rho+1,n},[\tau_{i}(a_{ji},\alpha_{ji})]_{n+1,p_{i}-\lambda},(\triangle(\lambda,\alpha-r),h)}{(\triangle(\rho,\alpha-r),h),(b_{j},\beta_{j})_{\rho+1,m},[\tau_{i}(b_{ji},\beta_{ji})]_{m+1,q_{i}}} \bigg) \bigg].$$

$$(44)$$

*Remark* 5 These results yield certain special cases of generating functions for the *q*-analogue of the *I*-function, *H*-function and *G*-function [7, 8, 18, 22].

#### 4 Conclusion

This study led to different types of the *I*-function satisfying Truesdell's ascending and descending  $F_q$ -equation. These forms have been applied to obtain various generating functions for basic analogue of the modified *I*-function.

The results proved in this paper along with their particular cases are believed to be new. As these functions have well been established as applicable functions these results are likely to contribute significantly in certain applications of the theory of *q*-calculus.

#### Acknowledgements

Humera Naaz would like to thank Deanship of Scientific Research at Majmaah University for supporting this work under the Project No. R-1441-155. The authors are also grateful to the worthy referees for the useful and valuable suggestions for the improvement of this paper which led to a better presentation.

#### Funding

Not applicable.

#### Availability of data and materials

Not applicable.

#### **Competing interests**

The authors declare that they have no competing interests.

#### Authors' contributions

All authors contributed equally. All authors read and approved the final manuscript.

#### Author details

<sup>1</sup>Department of Mathematical Sciences, Islamic University of Science and Technology, 192122 Awantipora, (J and K), India. <sup>2</sup>Department of Basic Sciences and Humanities, College of Computer and Information Sciences, Majmaah University, 11952 Al-Majmaah, Saudi Arabia. <sup>3</sup>Madhav Institute of Technology and Science, Gwalior, (M.P.), India.

#### **Publisher's Note**

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

#### Received: 16 March 2020 Accepted: 17 August 2020 Published online: 04 September 2020

#### References

- 1. Kac, V., Cheung, P.: Quantum Calculus. Springer, Berlin (2001)
- 2. Chako, N., Meixner, J.: A characterization of hypergeometric functions. Arch. Ration. Mech. Anal. 4, 89–96 (1959)
- 3. Rangarajan, S.K.: On some infinite series involving Appell polynomials and the function *F*(*z*, *α*). I. Proc. Indian Acad. Sci. A LX(3, Sec. A), 153–158 (1964)
- Rangarajan, S.K.: Bilinear generating functions for Jacobi polynomials, I. Bull. Acad. Pol. Sci., Sér. Sci. Math. Astron. Phys. XIII(2) (1965)
- Rangarajan, S.K.: Generating functions for Gegenbauer and Legendre polynomials—some generalizations. I. Proc. Indian Acad. Sci. A LXI(1, Sec. A), 41–49 (1965)
- 6. Dutta, B.K., Arora, L.K.: On a basic analogue of generalized H-function. Int. J. Math. Eng. Sci. 1(1), 21–30 (2011)
- 7. Saxena, R.K., Kumar, R.: A basic analogue of the generalized H-function. Matematiche 50, 263–271 (1995)
- 8. Ahmad, F., Jain, R., Jain, D.K.: q-Integral and basic analogue of the *I*-function. Asian J. Math. Stat. **5**, 99–103 (2012)
- 9. Truesdell, C.: An Essay Toward the Unified Theory of Special Functions. Princeton University Press, Princeton (1948)
- 10. Agrawal, B.M.: A unified theory of special functions. A Ph.D. thesis, Vikram University, Ujjain (1966)
- 11. Jain, R., Chaturvedi, P.K., Jain, D.K.: Some generating functions of the *I*-functions involving Truesdell's F-Equation technique. Rajasthan Ganit Parishad 21(2) (2008)

- Srivastava, H.M., Saxena, R.K., Parmar, R.K.: Some families of the incomplete H-functions and the incomplete *H*-functions and associated integral transforms and operators of fractional calculus with applications. Russ. J. Math. Phys. 25, 116–138 (2018)
- Srivastava, H.M., Yasmin, G., Muhyi, A., Araci, S.: Certain results for the twice-iterated 2D q-Appell polynomials. Symmetry 11, 1307 (2019)
- Bansal, M., Kumar, D., Singh, J., Tassaddiq, A., Nisar, K.S.: Some new results for the Srivastava–Luo–Raina M-transform pertaining to the incomplete H-functions. AIMS Math. 5(1), 717–722 (2019)
- Srivastava, H.M., Khan, S., Araci, S., et al.: A general class of the three-variable unified Apostol-type q-polynomials and multiple power q-sums. Bull. Iran. Math. Soc. 46, 519–542 (2020)
- Srivastava, H.M.: Operators of basic (or q-) calculus and fractional q-calculus and their applications in geometric function theory of complex analysis. Iran. J. Sci. Technol. Trans. A, Sci. 44, 327–344 (2020)
- 17. Saxena, V.P.: A trivial extension of Saxena's *I*-function. Nat. Acad. Sci. Lett. **38**(3), 243–245 (2015)
- 18. Saxena, R.K., Modi, G.C., Kalla, S.L.: A basic analogue of Fox's H-function. Rev. Technol. Univ., Zulin 6, 139–143 (1983)
- Ahmad, A., Jain, R., Jain, D.K.: q-Analogue of the *I*-function and and its transformation formulae with q-derivative. J. Stat. Appl. Probab. 6(3), 567–575 (2017)
- 20. Agrawal, B.M.: Rodrigue's and Schlafli's formulae for the solution of *F*-equations. J. Indian Math. Soc. XXXXI(3–4), 173–177 (1968)
- Ahmad, A., Jain, R., Jain, D.K.: Some generating functions of the *q*-analogue of the *l*-function satisfying Truesdell's ascending *F<sub>a</sub>*-equation. Asian J. Math. Stat. **11**, 40–45 (2018)
- Ahmad, A., Jain, R., Jain, D.K.: Generating functions of the *q*-analogue of the *l*-function satisfying Truesdell's descending *F<sub>q</sub>*-equation. J. New Theory 19, 48–55 (2017)

## Submit your manuscript to a SpringerOpen<sup>®</sup> journal and benefit from:

- Convenient online submission
- ► Rigorous peer review
- ► Open access: articles freely available online
- ► High visibility within the field
- Retaining the copyright to your article

Submit your next manuscript at > springeropen.com